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Part II 3-Tier
ECONOMICS
PAPER—II
{(General)
Full Marks : 90
Time : 3 Hours
The figures in the righi-hand margin indicate full marks.

Candidates are required to give their answers in their
!

own words as far as practicable.

\
First Half [

Economic Theory-II (Macroeconoriics)

Group—A

1. Answer any five from the folloxving questions :  5X2
(a) What is Gross Domestic Product (GDP}?

(b} What is Marginal Propensity of Consumption (MPC) ?

(¢) What is investment multiplier ? ’

{Turn Over}



(d) Mention some important functions of money.
{e) What is proportional taxation ?
{fi What is investment ?

(g) What do you understand by bank rate ?
(h) Define cost-push inflation.
(i} What is proportional tax ?
(i) Define Terms of Trade.
Group—B
Answer any three from the following questions : 3X5"¢

2. Briefly explain the circular flow of income.,

3. Briefly explain different methods of national income
accounting,

4. Explain different causes of inflation.

5. Make a brief comparative analysis of direct and indirect
tax.

6. What is inflation ? Explain inflationary gap using dia-
gram, _ 2+3

7. Write Canons of taxation. .
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Group—C

Answer any two questions from the following : Fx10

8. Discuss functions of a central bank of a country.,

9. Discuss the theory of comparative advantage of interna-
tional trade. :

10. Discuss simple Keynesian theory of income determina-
tion. : !

11. Critically explain credit creation process of commercial

banks.
\
Second Half |
|
Indian Economics—II :
Group—A :
1. Answer any five from the following questions : ?XQ

(a) What is ‘black money’? |

(b} Give two reasons for inflation in India.

(c) Define fiscal deficit with reference to India. !
|

(d) Mention two reasons for tax-reforms in India.

(¢) What do you mean by Selective Credit Control in RBI ?
() What is GATT? : I

(g) Mention two measures that have been introduced
recently in India to correct the BOP deficit.

(h) What is Mahalanobis strategy ?
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Group—B
Answer any three questions : 3%X5
2. Give some arguments for bank nationalisation in India.

3. Briefly discuss the problem of public debt in India.

4. Why is the amount of black money increasing in Indian
economy ?

5. Mention some of the measures adopted by Government
of India to increase export.

6. Discuss the reasons for increase in imports in India in
recent years.

7. State the basic objectives of India’s 12th Five Year Plan.
L

Group—C

Answer any tiwo questions : 2x10

8. Discuss how RBI controls money supply by controlling
credit in the domestic market.

9. What are the characteristics of Indian tax structure ?
What are the principal sources of revenue of the state
governments ?

10. Analyse India’s EXIM policies during the plan period.

11. Write a brief note on the achievements and failures of

planning in India.
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Second Half

Indian Economics—IT
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